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fx N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), Page 1/1
\ Imerpvetamn rgb -> olv* and CIELAB data of a 48 step device hue circle Imerpvetamn rgb -> olv* and CIELAB data of a 48 step device hue circle
c gm for a SRGB standard display with the luminance reflectiorL.,=0% compared to the white reference (100%) for a SRGB standard display with the luminance reflectiort=: 12% compared to the white reference (100%)
22 V= 100,1020,1360,156.4,3063, 3282 49 Stp deios hus il i i dovico UG, VI 0,101, 1365 1964, 2052, 201
= 255 92.3,162.2, 271.7, and M 0,328.6 ‘comparison with four elementary huesRICB: hap o 255 923 152 Z 2717
50 9 step equidistant grey -uo 119,236, 35.8, 47.7,59.6, 716, 835, 954 9 step equidistant grey scalet* = 11.0, 215, 32.1, 42.6, 53.2, 63.8, 7.
o= By [uaw.cam m!M.n 1b > 0l Gua Mgy [L2% D% C*ap Naglnag 190 =5 0y G g [L%a% % C*ap hatlutag 1gh > oy h,gn II.' at n- C*ab Natlsag 190 > Oy
Q. 300 504 666 658 950 438 100000000000 ci 08 752 1558 00001000100 o000 300 536 668 574 896 308 00000000000 OVC 2100 850 -670 300 735 1559 00001000100
=5 356 538 675 650 943 443 100001250000 civ 10920055 2062 00000875 100 o2y 366 540 676 5.1 888 405 100001750000 GiZv 2156 §32 307 200 446 2068 00000ST5 L0
58 439 553 633 668 920 465 100002500000 c25v T4z 707 2892 00000750 100 o25 439 551645 S84 §71 421 00002500000 cZ5v 2239 495 251 724 767 2691 00000750100
3o SL8 564 550 661 €76 SL1 100003750000 LIIv 1025 1267 3055 00000625 Gy 518 582 561 610 828 74 L0000ITSO00 c3T__ 2318 336 GBS 98 1198 3049 00000825
©'Q  |[osoy 00 644 37 716 819 610 100005000000 v 1001 1267 3075 G008 0500 G5y 600 640 411 654 772 579 100005000000 SN 20D SIS T2 ST IS T 3065 GO0
So ||e 2 m3 7 76 1 704 omossoomo v 1225 3095 00000751 ok 682 731197 728 754 749 100006250000 c62v 2452 379 735 008 1169 3000 000003751
38 ||omror 0 7 sts ser 26 somomonso crs 1196 3121 000002501 oTSy 761 835 -32 80 511 924 10000750000 o7y 2561 406 757 862 1148 3112 000002501
DS || wrme oy we o o TooverEtoe o 1180 3138 000001251 fm o 5T 2634 425 773 -2 1136 3129 000001251
O |[yoo=v %00 %01 -354878 947 1120 100010000000 voOm=V. 117:3 3144 0,000 0,000 100 901 -351847 OL8 1126 100010000000 v0Om=V 270,0 432 779 -B19 1131 3135 0.0000.000 LOO
S ||ne ses eea wsses7 973 1s2 08510000000 vizm 1172 3145 012500001 966 884 454626 943 1188 067510000000 viZm 2766 434 780 816 1130 3137 012500001
DE | asssers sassse w00s 1230 orsorcoooom wesm 1168 3151 025000001 1099 872 540 810 874 1287 075010000000 V26m 2639 440 785 €06 1126 3142 025000001
TE || ez eamz 1003 1264 062510000000 vam 1161 3160 037500001 1118 853 604 800 1003 127 062510000000 VG 2018 450 794 789 1120 3152 037500001
H2 |[wo 1200850 601823 1056 1288 050010000000 vSOm 1152 3173 050000001 1200 857 -651792 1026 1295 050010000000 vS0m 3000 466 809 762 1112 3167 050000001
O X |[Je 120252 691815 1072 1302 037510000000 vezm 1139 3191 062500001 1282 853 61788 1042 1309 037510000000 vezm 82 486 827 -728 1102 3166 062500001
S || 1s18s0 i2eis 1083 1311 025010000000 viSm 1128 3216 075000001 1361 851 700 784 1052 1318 025010000000 v/5m 3161 518 853 664 1003 3210 075000001
@ yeTl 1434 848 -723 814 1089 1317 012510000000 v87m 323.4 535 911 -64.7 1118 324.6 0.8750.0001. 1434 849 -711 782 1058 1323 0.12510000.000 v87m  323.4 544 882 -632 108.6 3243 0.8750.000 1.
S |Jooc-t 1500 848 727 813 1001 1318 00001000000 mOCo-M 3300 570 41 688 1110 3280 100000001 00c-L 1500 849 715 782 1060 1325 000010000000 MOOo-M 3300 578 915 575 108.1 3278 100000001
3 |[mzc 1566 847 734 812 1095 1321 000010000125 miZo 3366 560 9L4 471 1029 3327 1000GO000. ll2c 1566 845 -720 781 1063 1327 000010000125 miZo 3366 560 680 450 1001 3326 100000000
5@ ||z 1599 0as ansr0 1104 1325 00001000025 mase 3435 544 575 09 925 3405 1000000007 D5 1639 847 734 77 1071 1333 000010000250 mz5o 33D 554 845 299 900 3405 1000000007
v B ||se s maser a7 isme oootooosrsmao 1o sas sa4 90 630 S8 10000000068 | 1710 644 756 776 1094 1343 00MION0ST Mo 36L6 899 W7 85 L2 BI9 100000006
DG |l 1900840 795 503 1132 1318 000010000500 mie 3600 515 799 107 620 132 L0000000S  [Ie 1800 841 TT9 T2 1067 1953 000010000500 M0 3600 526 712 115 791 128 100000000500
=3 2o 1892 637 817800 1145 1356 00001000025 me2o 3682 507 779 480 915 Gio 10000000095 |2 1882 830 799 769 1110 1361 000010000625 meo 3682 519 752 426 864 205 10000000037
D 3 ||Fec w157 w4785 1137 H65 000010000750 mise 36T 56 Te5 46 00T 407 TG0000M00. [foc 1961 835 805 783 1103 1360 000010000150 m75e 3761 517 742 555 629 370 100000000
3 || 2034 835 704 645 1023 1410 000010000875 meTo 334 520 725 652 S5 20 100000000125 |67 2034 841 776 623 99 1413 000010000575 mbTo 3934 526 715 565 912 B3 100000000129
o KES20-3N. 1 KESZT-3N. 1
oCc
o® Intrpretation b - o and CIELAB data ofa 42 step device b cirle Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle
= o a sRGB standard display with the luminance reflectiorL, % compared to the white reference (100%) for a SRGB standard display with the luminance reflectiori =2,5% compared to the white reference (100%)
s 48 step device hue circle with six device hués/L V- nma.aaa 103.0, 136.3, 196.4, 305.7, azsz 48 step device hue circle with six device huEsYLV: hy, .= 34.8, 103.3, 136.9, 196.5, 304.3, 328.
=3=3 comparison with four elementary huesRJ: a, 5,92.3,162.2, 271.7, and M' ‘comparison with four elementary huesRJ! a, 5,92.3,162.2, 271.7, and M' = 217.0, 328.6
S 9 step equidistant grey scalet* = 5.7, 16.0,28.1,30.3, 50.5, 61.8, 730, 843, 95.4 9 step equidistant grey scalet* = 18.0, 27.7.31'4, 47,0, 56.7, 6.4, 76.1, 85.7, 95.4
=3 Prgo (L% 8%, % C*ab, haduing 1gb > ol G Mgy [L%a% D% C*ap Natlvag 190 > 0Vyga G gy [L%@% 0% C*ab Matlutad 1gh > Ol ego (L%, @, b%, C* oy hatlsad b > Oy
=X 00y=0 300 534 689 612 921 416 1.0000.0000.000 cO 0 849 —67.7 304 743 1000 1.000 1.00¢ 000y=0 300 540 682 511 852 368 1.0000.0000.000 GOOV=C 7400 BS.1 655 203 TL8 1560 00001000100
@M ||o:zv 366 538 67 eus s14 222 100001250000 civ 2166 832 405 200 451 7065 GOUDOETS 100 oizy 366 544 670 55 845 376 100001750000 ciZv 2156 §32 386 200 436 2074 00000ETS L0
O |[omy 4o 551641 623 sss 42 100002500000 cosv 2239 490 255 733 777 2691 0.0000.750 100 o25 439 555 640 525 627 304 LO0D0Z500000 cZ5v 2239 506 243 706 748 2690 00000750100
RN 037y 518 5682 557 643 851 49.1 100003750000 c37v__ 2318 323 712 -1003 1231 3054 000006251 037y 518 583 563 552 789 444 100003750000 c37v__ 2318 35.0 636 -942 1137 3040 0.00006251.
~x nSoy 600 641 405 683 79.4 593 100005000.000 C50v 2400 33.6 739 980 1228 307.0 0.0000.500 1. 050y 600 640 418 60.3 734 553 1.00005000.000 C50v 2400 37.0 664 924 1139 3057 0.0000.500 1.
5= G52 732 195 791 775 76 1000085000 cow 2482 370 700 923 iaoe 04 000NN %2 2 790 24 S 74 704 1000068000 coov 2482 907 01 870 1110 061 000091
O ||c5 o1 ov0 135 s20_ozo o25 ramorso0om erov 2504 99 779 574 1172 317 00000701 oTSy 761 839 28 77 Tr8 921 10000750000 o7y 2561 21 L4 -§3 1102 3104 000002501
3¢ ST ST TSy SLE I 00T 00 conv 2634 416 704 841 1168 3139 000001251 SIS ST BT BTE IOIT TO00TTE 00 conv 264 467 791 -ale 1099 3120 000001251
Ny JOOEY 900 801 -353 862 932 1123 1.00010000.000 vOOm=V 2700 427 800 -828 1152 3140 0.000 0,000 1.0 901 -348 819 890 1131 100010000.000 vOOM=V 2700 443 738 -B0.1 109.0 3126 0.0000.000 1.00(
k=) Y12l 966 884 -456 842 958 1185 0.87510000.000 vi2m 2766 429 B0.1 -824 1150 314.2 0.250.0001. 966 885 -449 797 916 119.4 087510000000 vi2m 2766 445 740 -79.7 1089 3128 0.1250.0001.
DS |les 1030 871 -543 525 85 1234 075010000000 v26m 2839 434 805 815 1147 3146 025000001 1099 872 534 781 847 1264 075010000000 \25m 2639 451 746 788 1086 3134 025000001
L| & |[wn 111863 608816 1016 1268 062510000000 vaTm 2018 445 814 797 1140 3156 037500001 1118 86.4 507 771 975 1275 062510000000 vaTm 2918 461 756 -771 1081 3144 037500001
o JS0I 1200 856 656 807 1041 1292 050010000000 vSOM 000 461 628 T7.1 1132 370 050000001 1200 858 641763 997 1301 050010000000 v6Om 00 477 T13 745 1074 3160 050000001
S ||ys2 1282853 666 803 1057 1306 037510000000 vezm B2 481 B44 -736 1121 3189 062500001, 1282 854 -670 758 1013 135 037510000000 vG2m 3082 497 793 711 1066 318.1 062500001
o X 75| 1361 850 -706 800 1067 1315 0.2501.0000.000 v75m 3161 508 868 691 1111 3214 0.7500.000 1. 1361 852 -689 755 1023 1324 0.2501.0000.000 v7Sm  316.1 523 822 -66.8 106.0 50 0.000 1.
S |[Jen 104 6es 717798 1073 1320 0.125 10000000 vB7m 3234 540 856 639 1102 3245 087500001 Yo7 1934 851 699753 1028 1320 012510000000 VAT 3234 553 854 618 1055 3241 087500001
@ = |[looc-t 1500 818 721 787 1075 1322 000010000000 mvo= 3300 574 28 100000001 00c=L 1500 850 702 753 1030 1330 000010000000 MOOG=M 3300 586 890 662 1053 3277 100000001
S U |{n2c 1566 848 727 796 1079 1324 000010000125 mIZo 36 565 902 e l12c 1566 850 -707 752 1033 1333 000010000125 miZ0 3366 578 864 448 074 3325 100000000
=0 I25¢ 1639 846 -74179.4 1087 1330 0.00010000250 m250 3439 549 861 -30.4 914 3405 10000.0000.7 I2sc. m250 3439 564 823 -289 873 3406 10000.0000.7
G7c 1718 543 764 791 1101 1341 000010000375 Mo 318 833 821 87 626 F39 100000000628 |w7c Mo 3518 549 782 81 786 3540 100000000625
B0 1800 641 767767 1114 1350 000010000500 MS0o 00 520 785 181 806 130 100000000500 I oMo 3600 537 746 164 764 124 100000000500
2o 1852 638 808 784 1127 1353 00001000025 me2o 3682 513 765 45 838 305 10000000035 |ie2c me20 3682 530 726 35 821 218 100000000375
75¢ 1961 83.7 -814 76.7 1120 136.7 0.0001.0000.750 m750 3761 512 753 59.7 96.2 384 1.0000.000 0.250) 75¢ m750 3761 528 717 493 B87.0 34. 1.000 0.000 0.
7. 2034 540 795 6331009 1412 00001000075 mTo 3094 522 722 604 042 399 100000000128 |7 2034 843 759604 57O 1615 000010000875 MER S EIS E9ES05 6T 360 TaO0TOO.
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TUB-test chart KE92; 48 step sSRGB device hue circle input: rgb->olv* setrgbcolor
Interpretanorrgb —> olv* and CIELAB data of colours Ma output:no change compared to input
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